T@
APPSE
L

—

ARENA

G
NIN
E S
SOHiNSv
ENN%NGS
‘/3\555 [\J 'r-E:

MO

ION
AN
INS

ION
[RUCT
INS

NG ION

TU AT
NLE%ALL
BAUSWNS
F:-
AU CE

T
NO

19
20
E: 11.9.
TE:
DA

85
38
Q1

Ltd
up

Gro

t

Lappse
ight

g

yri

Cop

i o
ii”l"l“”l H””"\H\HHHHH\HHHIIHH
] i I i I
lj Il i g
| |IIHHIIIIII Il I
| |I||HH|l||I||| i I||l|l

i :
i, Il ||||I||III i I
Il I||I|I|III II|| |III|
i |I|II||I| I I

) ||III|IlII |

N
I I
I I

m I I I|||Il||
) i Il IHHII II|||| I
HIIIIIl II\HII I
HIIIIIIII | IIIIII|
IIHIIIIIIII I \IIIII
IIHlIlIIIII I ly,

|
I
\
il
I il
it it
fat i
iy ||||||||| I
i ! II|||||IIIII||||}
i i
“ i it
il it
i
I i
I

g
I il
| Il
i i
i il |
\I'II 1 Il
i Ii"i}“h”:
i it il
||H::I'IiHH'“ ||IIIII:EII::
il
'II::IIHI"HI"" I|:IIH|I|:IH
i I i i
I:ll'llﬁhﬂ:l ! Ihl::l"'
i |I"H"|I"H"H"'I il
il u'q i
T T it I
) il I |||"H”i| l iii}iiiﬂﬂuu
|||||||||| i il
i
i iy

I
dlllh"'
Il

fl

fl H H II
| H

I

i




s LAPPSET.

ARENA

Q13885

DATE:

11.9.2019

080950 |pcs 702341 PCS 707254  |pcs 905827 |pcs 907023 |pcs 907349 |pcs
4 j 32 4 i "H:“H:iiiiiii 4
@w) / o
90x50 M8x20 12x30x1556 2030x2500
907350 |pcs 907351 PCS 907357 |pcs 907359 |pcs 907650 |pcs 907654 |pcs
t |8 ¢ | 6| 4| 12] 2] 4|
o | © o | a 2] 2] i
|||||l|'H:HH'HHH“IHH (i
g Wi
ittt il
o o
il
1230x2500 1030x2500 50x70x3800 40x60x1700 1230x1000 3x25x1556
907730 |pcs 907731 |pcs 909256 |pcs 909633 |rcs PCS PCS
§ 68 68 32 - 32
1§ S|
30x16x9 @5,5x19 216/8.4 M8
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
pe}
T - - - - - -
3 PCS PCS PCS PCS PCS PCS
5 ) ) it it i hitd
D - - - - - -
Q|
g
5
5 - - - - - -
g




| | | |
0921 0921
p———- PR gt - B R b s : m
“ - L - “
| <C — <C |
| [©] < O |
" O O (@] "
m L
| o 1 0011
2 oo} "
3 . L
[e)]
g m m
- | |
0 g 3 | |
™ . 88 |
v E | |
S = _ _
| |
Y ﬂ nw o
| 2 2 |
S S S
mn
o i , m , i
® ! 7 0961 5 09G1 7 “
| |
T B——— -~ IIIIII@‘ IIIIIIIIIIII N g 77— ‘@I IIIIIIIIIIIIIIIII @
P 0952z 0zsz  ovzr ~ ozse 0962
ol =
wl
1k =

p3}1 dnoug jesddp jybrkdon



Copyright Lappset Group Ltd

s LAPPSET.

ARENA

Q13885

4A

DATE: 11.9.2019
CONCRETE % CONCRETE
O $300x700 $300x700
@]
P E g §




Copyright Lappset Group Ltd

s LAPPSET.

ARENA

Q13885

DATE: 11.9.2019

14460

1:100
I || ]
0 5m
9730
1
i GOAL GOAL
|
\ o 63 | o
(0] > —
GATE g %, GATE B
d T o
GOAL GOAL

8320




& LAPPSET. ~ 13885

ARENA
DATE:  11.9.2019

S

+0

i)
—
o A
o Y
T o T 1)
| [ e
) A
b i




=
LA
PP
SET

Q138

85

A
RENA

.

DA
TE
11.9.2

201

9

90
.
xf“'g

jlir

I! HH\H

HHHHI
il il
il I

im“'h iy
e
un}{ﬂ”ﬂiiﬂwm
Illl:iﬂi‘ii'“‘ Uy
i Q
9 i
0735 *W"
X8 0 i
||I|H|.‘
|I}||!‘;|I”H“|."
||l||}}}iiﬂ=}|lﬂ i
himii:;i1::!1::#:::'...
w:::iii:iiﬂiﬂ:i”
mﬂ}iii}i
l )
ml"'l
i
WWWHI
\ ||||HiHiiiiiiiiliiiﬂ'llll|
\\liliililiﬂm}m
i mimm“ ‘\
i
im"“"l il il i I
It i ||I|||| IHIH H\I\\IIIHIII"IIWI\\|||H|||H|| ||H|||I||||||\||||||ﬂ
ﬂ;lﬂﬁllﬁllgﬂuml HHHIIHIHHHIHHHIHH ”"‘HHIHHIHHHHH
S IHIHIIHIHIIHIHHIHIHI -
<:"'a" i
a |:i:'!!:::::u::::::um:m:::::m:::u: .
"*IIH{I}F! Uil |||‘ii|:uu|||||||||||||||||||||||||||||| umuuummuu
i |||||||§u||||||||||||||||||||||||||||||| |||||m||||uuuu
L “E’iiiiiiii\iiii\iiiiiiii.iiiiiiii.ii i'iiiiiiiiiiiiiiiiiinu::n.m..\
| Ii||i!|I|I||||I|||II|||II||I|I||I|_ ! |m|n||m||m||m|m||' i

Co|
pyri
Igh

t
L
Clppset
Gr
ou
P

Lt
d




Copyright Lappset Group Ltd

s LAPPSET.

ARENA

Q13885

DATE:

11.9.2019

6A

DET 3

DET 6

DET 7

DET 8

il
Spikes |
downwards /|




85
Q138
T®

SE

PP

LA

=

1A
EN
AR

19
11.9.20
TE-

DA

080950

00705

080950

q
i
il
-
I”‘I"I il il 1l
uumﬂu
|%%MWWW
‘ (et IHNHII“”I'“I'II
i
I T I
..i:.uuum:iiiiiiiiiiii‘ii“"””””” e 1
WWMWMMMWP
MWMW :
mwwmmﬂ%ﬂf

I il il
m|mm
& “WWWM
< il II}IHIHII'“
52 ““‘ il "
2324 ()
..,“1
% <S .
D
S
il
IH\I”
i
MWN
il
il
nuunwu |wmmn i
uu\wmmmmm M'ﬁm\\\‘HMWHmn
i
ume\ Il IMW
MMMMMMMHI'IW" it
Ry

il
i
HmH
f it
(ot
i

mwwmem I ‘
i g
mmwmmmwwmm l
L |
i :

IIIIIIII
080950

i
I Il ||\“|\
HWWWWW
HNIHWWW
i i
i il | i |U'|I”\
mmww, %W%%
MMWWI H‘%
|IIUII il i
HWHW' i
mwh.u."
umw"ww
) \M%W i
‘ u'ln'hl'h il
\ IMH%%%WH
| M mwmwmw
| "‘WMI
Il
il

=g ’l"‘iiiiii'iiiiii!iiiiiiiii"’""
. N
50
76
90

50
09
08

mumw‘hu\\
WM\\WI
\ iy i
4
i

umwuu‘
mmmmm
WWW“
mIHIIHIII”"'
MWMWW

i
WM
il i
il
\"l'HHIHI'I
I 1l
o
()

iy

IIIIII
I
i
mmmm |

uHWWW
uwwm
i
I 1l
H|||II
\ il

il
MHu
‘MI
\

}\
i
i
i
mmhh
Il
!
il
i
i
i
i
I
i [l
il “

1
i
I
|
il
(i
Hummm WMWMMMWHHMV
i g
)
fiimd i
| A :

Il H\ :I
! i |||||III||

i
il

W"|
mwﬂﬂw

il il

i) ) IIIHIIIII
I |I|H|I|I|H""""

! IIIHIIIIII
dlllHHllHu
IIIIHIIIIllll

Ltd
up

Gro

t

Lappse
ight

yrig

Cop




Copyright Lappset Group Ltd

#% LAPPSET.

SPORT

080950

DATE:

28.8.2015

1(2)

{\\\

DET 3

DET 1,2

+960

L/

+0

(1) 906776 |pesf(2) 702341 |pes

1 1
1520x950x7200 |  90x50 | |
(3) 906990

L400
(5) 909214 |pes|(B) 980154 [pcs|
2| 2|
MI2x50 | | @24/13 | |
(7) 907254 |pcs((8) 904728 |pes]
1 10

S

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS




% LAPPSET. 080950

SPORT DATE: 28.8.2015 2(2)

1520

720

1260

DET 1 DET 2 DET 3 ggggtigié\mreoepds Losebecof!j:dﬁve”smtom
M12x50 (909214)

ease the fastening.

Maaliverkko kiinnitetddn ylimddrdiselld
narulla. Kdytd nippusiteitd
kiinnittdmisen apuna.

S
570

@24/13 (980154)

904728

\_ 705797

Copyright 1998 Lappset Group Ltd




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



707254

DATE:

% LAPPSET.
SPORT

1(4)

18.11.2022

DET 9

NSRS e VAVAVA
INSSSeTaaaay

VAN SRV AYAVAVAVAYAVAVAY/

DET 2—4,14

DET 9

Vi

A m—/

%

(T

Q

)

!"P’dh‘m’ —VAVAVAVAv.yay/

~ LA AARART T

wn 51 S4 (2] w0 wn) 32 " | O
2] 18] HEE HER 8] HER HEE HEE |
E
< E| P KN Fim ® o) ~ ) ~
2 Slfa—\ %9 ]l 783 3z 88 =
x R N > —
0 SEENTY I= ol SIS x| % > | 10 0|0 N
o ok o9 | O 2|0 3129 S|o QO Q
~ 1L = | O SN s|o 2| S| o @
M \ \ 1D
X - Q
© 5® © ©) © &) &) S
51 wv SO [%2] (9] (9] w [%5)
gl-| NES HHEE HES gl | |8~ HES HER |
o T
o) Sl s Siw < o 0| — ) oM [
< x | O o | © 9} o M| m1 Mo ~
00 O |NW x| o o|N o~ | 0 I Nl 0| = 0
< ©|NO <+ O = | = | < = | X x4ﬁ95 S
o 4 5o~ o9 =|o =|o B g|o peg ) @
™~ x |~ \ X | ) o)) Ug s|© o _
o n 7 [\ [
© 2™ a®) © ©) °® © _1® ® o
0 N
_ A —
© © -
9 A
— _ "
L — © a
(&) Ll —
o Ll
(]
(o))
—
T
Ll == / — ————
() v (XS S S SN AN S\ AV
\\\u NNV N NN AN A

3
%W//KA///// ANANANANAN

N AANSL 77~
N S AT AKX N, L T 777

A A N AN NN R SA N\

1//// ANANAVANAN

<7

T i i i s ) WA

py] dnou9 josddoT jybrikdo)



% LAPPSET.

707254

SPORT DATE:  18.11.2022 2(4)
3130 (17) 906829 |cs(i8) 907434 |Pcs|
8| | 2]
,/
Q)
MI0x25 | | 70x50x3800 | |
907843 908069
— +2130 %® ?
/ — I
g [«®
<<
@76x90 | | ©60x87,6 | |
(2) 908070 |pes|22) 908071 |Pcs|
// 2| 2|
/ /
[ U
//f 076,1x2965 | | ©76,1x2945 | |
@9 909248 |pcs
+0 2
=
088.9x610 M2 | |
(25 909256 |Pcs|26) 909287 |cs|
3300 24 20|
MW
016/8.4x1.6 | | Msx80 | |
27 909529 |°cs|@8) 909633 |Pus|
8| 12|
e || owme | ]
081 C 909852 |pcs|30) 980151 |Pcs|
12| 20|
o
3000
M8x30 | | w@16/8.4 | |
@) 980154 |pes(3) 980161 |Pes|@3) 980165 |Pes(34) 999561 |pes|
2 2 2l oy
1 | |\
w2413 | | w0 | | @24/13x2,5 | | -

Copyright 1998 Lappset Group Ltd




Copyright 1998 Lappset Group Ltd

% LAPPSET.

707254

SPORT DATE: 18.11.2022 3(4)
DET 1 concreTe |DET 2 CONCRETE DET 3 wizazo sosem)
©0300x700 @300x700
/ 226 /13x3 (980165)
8 ~ / M12 (902234)
<
R °d
e % ol
O Xl el O O
S N N I
O o o) NE )
) ° CONCRETE
: @300x700
“ .7 Pq » : » g N ’ \I
M10 (980161) DET 5
\‘ M10 ¥20/10.5
o 907/843 @
) PN "
M12x120 (904911) &
@ 0)
& | o
M10x100 (904917)
908070
220/10.5x2 (901302)
@20,/10.5x2 (901302) M10x25
DET 7/ DET 8 DET 9
M8  216/8.4
M10x80 (904133) 904800
/‘ ?16,/8.4
@
. Q0 M8x30
R 3 (909852)
AW
M10 (980161) 707204
/707208

220/10.5x2 (901302)

&

ol
905103

50




% LAPPSET. 707254
SPORT DATE:  18.11.2022 4(4)

DET 13 DET 14
704849 7
/o

M10

M10x100 | 900965
904917

901302

Note! Rotate clip around if you have to
tighten the rope.

DET 10
HUOM: Kiinnitd

solukuminauha
putkipalkkiin 308070 ja
avaa reidt.
- NOTE: Attach the cellular
>/—\ rubber tape to hollow
section 908070 and drill

holes through it.

rN—

@ 909529
N @16 /8.4 (980151)

hiR ///// M8x80 (909287)
Cé?%§® 905112
ootz
(@
905083
. 16 /8.4 (980151)

o //////' M8x70 (909600)
é@i%§®‘/////,
@)
705984 ~._ 905112

Copyright 1998 Lappset Group Ltd






